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Unit 02 it を含む構文 － 仮主語、仮目的語② 

解答編 

模範解答以外にも正解はあります。まずは抑えるべき構文と単語をしっかり取れているかを確認

しましょう。 

 

STEP 2 

 

01 It seems that he is hiding something important. 

02 It often happens that you hear different opinions about the same person. 

03 It follows that someone else has already done it. 

04 It is advisable that students (should) learn more about themselves. 

05 The lawyer proposed that we (should) not mention the matter in court. 

06 It is natural that she should complain about the result. 

07 It was surprising that you should have admitted that. 

 

 

STEP 3 

 

01 Considering the audience’s background, it seems that this explanation is too general. 

・considering O,  taking O into consideration ～を考慮すると 

 ・it seems(appears) that SVを使って各 

02 It is essential that not only the conclusion but also the process of the negotiation be 

open to the public. 

 ・that SVが仮定の提案・要求を表す → (should) be open 

03 The government proposed that the owner abandon the land for the construction of 

the new airport. 

 ・that SVが仮定の提案・要求を表す → (should) abandon 

04 It is disappointing that the chairperson should have declined our requests 

immediately. 

 ・「～なんて」という驚きを表す shouldを用いる 

 ・要求が棄却されたのは過去の話なので should have declinedと過去完了を使う 

 


